MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Harray, LLC dba Architectural Louvers

266 West Mitchell Ave.

Cincinnati, OH 45232

ScopE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product
Control Section to be used in Miami-Dade County and other areas where allowed by the Authority Having
Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami-Dade County) and/ or the AHJ (in areas other than Miami-Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to perform
in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right
to revoke this acceptance if it is determined by Miami-Dade County Product Control Section that this product
or material fails to meet the requirements of the applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models E6JF/E6WF/V6JF Aluminum Louvers

APPROVAL DOCUMENT: Drawing No. 23-104, titled “E6JF/E6WF/V6JF Aluminum Louvers”, sheets 1
through 13 of 13, dated 07/06/2023, prepared by PPMF Inc., signed and sealed by Pedro M. De Figueiredo,
P.E., bearing the Miami-Dade County Product Control revision stamp with the Notice of Acceptance number
and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state, model/
series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in
the materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA # 20-0630.18 and consists of this page 1 and evidence pages E-1, E-2 and
E-3, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 23-0815.26

Expiration Date: October 31, 2028
Approval Date: November 2, 2023

Page 1



Harray, LLC dba Architectural Louvers

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDER PREVIOUS NOAs

A. DRAWINGS “Submitted under NOA #14-0708.06”
1. Drawing No. 14-100, titled “E6JF/E6WF/V6JF Aluminum Louvers”, sheets 1 through
13 of 13, dated 05/26/2014, prepared by ENGCO Inc., signed and sealed by Pedro M.
De Figueiredo, P.E.

B. TESTS “Submitted under NOA # 13-0529.25”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Models E6JF and V6JF
Aluminum Louvers, prepared by Architectural Testing, Inc., Test Report No.
B3859.01-450-18, dated 08/15/2012, signed and sealed by Vinu J. Abraham, P.E.
2. Test reports on Uniform Static Air Pressure Test, Loading per FBC TAS 202-94 of a
Model E6JF Aluminum Louver, prepared by Architectural Testing, Inc., Test Report
No. B3859.02-450-18, dated 01/29/2013, signed and sealed by Vinu J. Abraham, P.E.

C. CALCULATIONS “Submitted under NOA #14-0708.06”
1. Anchoring calculations prepared by ENGCO Inc., dated 05/19/2014, signed and sealed
by Pedro M. De Figueiredo, P.E.

“Submitted under NOA # 13-0529.25”
2. Product evaluation prepared by ENGCO Inc., dated 08/30/2012, signed and sealed by
Pedro M. De Figueiredo, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS “Submitted under NOA #14-0708.06”

1. Statement letter of code conformance to 2010 and 5™ edition (2014) FBC and no
financial interest issued by ENGCO Inc., dated 05/19/2014, signed and sealed by

Pedro M. De Figueiredo, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-0815.26

Expiration Date: October 31, 2028
Approval Date: November 2, 2023



Harray, LLC dba Architectural Louvers

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

2. EVIDENCE SUBMITTED UNDER PREVIOUS NOAs

A. DRAWINGS “Submitted under NOA #17-0821.22”
1. Drawing No. 17-423, titled “E6JF/E6WF/V6JF Aluminum Louvers”, sheets 1 through
13 of 13, dated 07/25/2017, prepared by ENGCO Inc., signed and sealed by Pedro M.
De Figueiredo, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS

1. None.
F. STATEMENTS “Submitted under NOA #14-0708.06”
1. Statement letter of code conformance to the 6™ Edition (2017) FBC and of no financial

interest issued by ENGCO Inc., dated 08/01/2017, signed and sealed by Pedro M. De
Figueiredo, P.E.

£

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-0815.26

Expiration Date: October 31, 2028
Approval Date: November 2, 2023



Harray, LLC dba Architectural Louvers

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. EVIDENCE SUBMITTED UNDER NOA # 20-0630.18 AND NEW

A. DRAWINGS
1. Drawing No. 23-104, titled “E6JF/E6WF/V6JF Aluminum Louvers”, sheets 1 through
13 of 13, dated 07/06/2023, prepared by PPMF Inc., signed and sealed by Pedro M. De
Figueiredo, P.E.

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to the 8" edition (2023) of the FBC and of no
financial interest, issued by PPMF Inc., dated 07/16/2023, signed and sealed by Pedro
M. De Figueiredo, P.E.

2. Statement letter of code conformance to the 7™ edition (2020) of the FBC, issued by
ENGCO Inc., dated 06/08/2020, signed and sealed by Pedro M. De Figueiredo, P.E.

G

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 23-0815.26

Expiration Date: October 31, 2028
Approval Date: November 2, 2023



RCHITECTURAL
0 U-V ER-S

LOUVER MODELS: E6JF - EGWF - VEJF

LARGE MISSILE IMPACT RESISTANT RATED

GENERAL NOTES:
FLORIDA BUILDING CODE 2023 (8th edition) HVHZ ¢ NON HVHZ
LARGE MISSILE IMPACT RATED

I- CODE: THIS PRODUCT HAS BEEN TESTED UNDER TAS 201 (LARGE MISSILE), 202 AND 203 AND
DESIGNED IN ACCORDANCE WITH THE FBC 2023 - 8th edtion INCLUDING THE HIGH
VELOCITY HURRICANE ZONE (HVHZ).

2- DEFINITION: THIS PRODUCT IS AN ALUMINUM IMPACT RESISTANT LOUVER DESIGNED,
CONSTRUCTED AND TESTED FOR THE PURFOSE OF PROVIDING PROTECTION FROM
HURRICANE FORCE WINDS AND WIND BORNE DEBRIS (LARGE MISSILE) WITHIN THE

ALLOWABLE DESIGNED PRESSURES AND UMITATIONS STATED IN THIS APPROVAL.
3- LABELING:

‘ARCHITECTURAL LOUVERS - CINCINNATI - OHIO
SERIES EGJF, EEWF AND VEJF ALUMINUM LOUVERS
LARGE MISSILE IMPACT RATED

MIAMI-DADE PRODUCT CONTROL APPROVED

4- LOADS: DESIGNED LOAD CALCULATED BASED ON THE ASCE 7-22 AND PROVIDED BY A
PROFESSIONAL ARCHITECT OR ENGINEER FOR EACH SPECIFIC PROJECT. THE CALCULATED
DESIGNED PRESSURE MUST NOT EXCEED THE ALLOWABLE PRESSURES HERE IN SPECIFIED.
THE DESICGN PRESSURES, AS DETERMINED FROM ASCE 7-22, ARE TO BE MULTIPLE BY 0.6

5- MATERIAL: ALL ALUMINUM PARTS TO BE 6063-T5 ALLOY OR AS NOTED ON THIS APPROVAL.

G- FASTENERS: ASSEMBLY SCREWS AND ANCHORS SHALL BE AS SPECIFIED IN THE CURRENT SET
OF DRAWINGS. INSTALLATION AND LOADS AS PER THIS APPROVAL.

7- USE: IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR, ARCHITECT OR ENGINEER OF
RECORD TO VERIFY THE FOLLOWING:
7.1- THE STABILITY OF THE STRUCTURE WHERE THE PRODUCT 15 TO BE ATTACHED
ENSURING PROPER ANCHORAGE.
7.2- THE SITE SPECIFIC PROJECT CRITERIA, SUCH AS BUT NOT LIMITED TO, LOCAL CODE
REQUIREMENTS, DESIGNED PRESSURES ETC.
7.3- THAT THIS APPROVAL 1S ADEQUATE FOR A SPECIFIC PROJECT.

8- DISSIMILAR MATERIALS: WHERE ALUMINUM 1S IN CONTACT OR FASTENED TO DISSIMILAR
MATERIALS, INCLUDING BUT NOT LIMITED TC STEEL, INSTALLATION SHALL MEET THE
REQUIREMENTS OF CHAPTER M.7 OF THE ALUMINUM DESIGN MANUAL 2020.

9- BLADE CAN BE INSTALLED UPSIDE DOWN FOR THE PURPOSE OF SIGHT BLOCKING .

1 0- THIS LOUVER SYSTEM HAS NOT BEEN TESTED FOR WATER INFILTRATION RESISTANCE AND
IS NOT CLASSIFIED AS WATER RESISTANT UNDER THIS APPROVAL. THEREFORE, THE LOUVER
IS TO BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO
DRAIN ANY PENETRATING WATER. THE ROOM SHALL HOUSE EQUIPMENT, COMPONENTS AND
SUPPLIES THAT ARE WATER RESISTANT OR WATER FROOF.

| 1- MULLIONS MAY BE USED TO MAKE HORIZONTAL ASSEMBLIES TO AN UNLIMITED WIDTH
DIMENSION. SECTION SPLITS MAY BE USED TO MAKE VERTICAL ASSEMBLIES TO AN
UNLIMITED HEIGHT DIMENSION. COMBINATIONS OF VERTICAL MULLIONS AND HORIZONTAL
SECTION SPLITS MAY OCCUR, PROVIDED A STRUCTURAL SUPPORT (BY OTHERS) 1S
INSTALLED TO SUPPORT ALL LOADS TRANSFERRED FROM THE LOUVER ASSEMBLY.

| 2- UNITS: ALL UNITS ARE IN INCHES (IN) AND PRESSURES IN POUND PER SQUARE FEET (PSF)

MANUFACTURER:

HARRAY, LLC, dba

RCOCHITECTURAL
CBU V- E-BR S

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

E6JF / EEGWF / V&JF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

TABLE OF CONTENTS:
SHEET CONTENT DESCRIPTION

| GENERAL NOTES, TABLE OF CONTENTS AND SHAPE OFTIONS

2 SINGLE LOUVERS W/ & W/O STIFFENERS - TABLE | AND TABLE 1.1: DESIGNED PRESSURES

3 MULTIPLE VERTICALLY STACKED LOUVERS W/ STIFFENERS AND SECTION SPLIT - TABLE 2: DESIGNED PRESSURES

4 MULTIPLE HORIZONTAL LOUVERS W/O STIFFENERS AND SUPPORTED BY MULLIONS - TABLE 3: DESIGNED PRESSURES

5 MULTIPLE HORIZONTAL LOUVERS W/ STIFFENERS AND SUPPORTED BY MULLIONS - TABLE 4: DESIGNED PRESSURES

6 SECTION DETAILS

7 BLADE STIFFENER AND SECTION SPUT DETAILS ¢ ASSEMBLY

e} MULLIONS SECTION DETAILS, MULLIONS CONNECTION INSET MOUNT - TABLE 3A

2 JAMB MULLION CONNECTION INSET MOUNT DETAILS - TABLE 3AJ
10 5.5, 5A MULLIONS CONNECTION BUILT-OUT MOUNT
|| JAMB, RHLH MULLIONS CONNECTION BUILT-OUT MOUNT
|12 LOUVER MANUFACTURER COMPONENTS
|13 BILL OF MATERIALS AND OPTIONAL WDR BLADE RACK ASSEMBLY

SHAPE OPTIONS
ma—ﬂ — 5 —] L B —] — g L & —] ———B—«]
) /é /Q\ é B i
U
RECTANGULAR ROUND TOP ARCH TOP /4 RND TOP CATHEDRAL HOUSE TOP  TRAPEZOID FPARALLELOGRAM
B f— B —) LB —-t b “l - B f—— B
| B !
BEeaeei=liC Al A
O

| \ | 1S I + 1~ 1 1

1/2 ROUND 174 ROUND FULL ROUND OCTAGON ARCH DIAMOND FULL TRIANGLE RT TRIANGLE

ENGINEERING:

PPMF INC. CA 32459

9715 W, BROWARD BLVD. 247
PLANTATION, FL., 33324
PPMF@AOL.COM

éggg§®§§§@§éﬂ§@yg
%@gﬁ = “e,
o ¥ . at f? / @ é’@@%@
{%@ w“gwaw%m&%éw& é::’ %@,
SNCENS e p %
i 4 @
&N s, % @

',
T

Q=

L oaSETOEEEIR,

2 #a,
ﬁe,eé? Fo,
@

& B,
£

A

No. 52609 }©
* #
STATE OF {4~

A @ﬁ Qj &
Lop1 0% 3
Yetonspapneatt® %@ %%@éf

& / 5 :

i

4 ¥

%
%
%
2
e
2
1
@
¢
4
@
&
&
&

26098888804,
o88 O,
@,

9%
e
ef;’@

:

&

g
@&g&i
& Oy

E\; * Engineer Seal
Ped¥o De Figuerredo - PE 52609

MIAMI-DADE BCCO:

PRODUCT REVISED

as complying with the Florida
Building Code
23-0815.26

NOA-No.

Expiration Date 10/31/2028
i)

By K

Miami-Dade Product Control

NOTES:

| . OTHER SHAPES ARE ACCEPTABLE, PROVIDED THEY ARE SIMILAR TO THOSE SHOWN AND HAVE CORNER CONNECTIONS AS SHOWN IN THE APPLICABLE DETAILS.
2. ALL SHAPED PANELS ARE RESTRICTED TO THE SAME PANEL WIDTHS, HEIGHTS AND PRESSURES AS RECTANGULAR PANELS.

3, STANDARD CONSTRUCTION, MECHANICALLY ASSEMBLED BLADES AND FRAMING, SHALL APPLY TO ALL RECTANGULAR PORTIONS OF THE LOUVER PANELS.

4. WELDED CONSTRUCTION, SHALL APPLY TO ALL NON RECTANGULAR PORTIONS OF THE LOUVER PANELS.

5. ANCHORAGE SPACING 1S RESTRICTED TO THE MAXIMUM SPACING TESTED AND PRESENTED HERE IN

G- ALLOWABLE SHAPES OPTIONS ARE APPLICABLE FOR LOUVERS W/ OR W/O STIFFENERS AND FOR SINGLE OR MULTIPLE PANEL CONFIGURATIONS.

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
[ OF i3

DRAWING #:
23-104



utrera
New Stamp


ALL 4 CORNERS
¢ & 8 1 CLIP SFACING PER SCREWED W/
' CORNERS SCREWED BLADE FRAME TABLE | ) (2) #10x1 5DS
o % W/ (2) #10x1 5D5 S X BLADES WELDED £ - o2
2 [ e NN TO FRAMES =
5 ! ,. AR * = E ey :
I = | ¢ A I T I
R S — W ¥ A\ % B -1 [ e AL
e > e_/13. g w Y-V e |
| CORNER FRAME = H’/ W
TR b i
w3 I ] wal | 75N
4 S E N7/
% %) = = o] I O
0‘5 E & 5 ‘:5 . i} '1_:
= & 4 i %4 [ri] > il 0]
54 | & T & x §] o
2 = —F o- 1 F oo 5= F oo + i
—— gy Z 2y z & A 73
e N =R = Q Q et - % % -~z
g pRee—— ¢ iR HIE—R | T o m—: S m Z
ot o ! b b i
0 0 )]
2 o ## # # 1 i
o (=] 5 4 2 E— iyl
I - | 1! \;6/ i ©d | B !l: I ) |
®% | (5)pLaDESPAN ——| \— CORNERS SCREWED ©% | (5 5iapEsPAN ——] \— CORNERS SCREWED . @ BLADESPAN | \— CORNIRS SCREWED  © 3 (B) BLADE SPAN
W/ (2) #10x1 SDS W/ (2) #10x1 SDS W/ (2) #10x1 SDS
RECTANGULAR UNIT HOUSE TOP UNIT RECTANGULAR UNIT
ROUND TOP UNIT
W/ STIFFENER
## - LOUVER BLADE ATTACHED TO JAMBS USING (2)#10X1 5D5S
APPLICABLE FOR ALL BLADES INSTALLED PERPENDICULAR TO FRAME
TABLE 1: TABLE 1.1:
BLADE W/OUT STIFFENER BLADE W/ STIFFENER £ CLIP
BLADE SPAN X DESIGNED PRESSURE BLADE SPAN X DESIGNED PRESSURE
SECTION FRONT
VIEW VIEW
B C PRESSURE | CLIP SPACING B C PRESSURE | CLIP 5PACING 013 1.c0
|N |N =+ FSF (au) (»m&) (zuuw) ’N ’N -+ PSF (am) (MM) (rpmm) ——l—- 212 ‘_'
30 i 150 13 15 G |50 G [3) |6 e i o
’ 123 e |le s 60 | €O 1T 9 lio 16 o o O— o
36 * 150 | |3 16 60 |6 |6 |6 -
; 103 lc_|le Ic 150 5 c E T "
42 * 150 9 | 16 72 0] |25 G 8 |6
) &8 16 |16 16 93 5 0 G ANCHORS:
46 ’ 150 & |10 16 150 = 5 I TYPE | DESCRIPTION SUBSTRATE | ED EMBED
* 77 16 16 16 &4 G0 107 6 8 16 (MIN) | (MIN)
54 " 123 © 10 |6 79 9 I |6 A 1/4" TAPCONS BY ITW CONCRETE 21211 3/4
e L o S e e [
@) * 00 |
€ o lg’ ;g :é :2 06 0 2; g l? 'g Bl #14 SMS GRADE 5 WOOD ] I 1/2
C I/4-14 GR 5 SDS METAL 172 1/8
NOTES: NOTES: ANCHORAGE NOTES:
I - (B) BLADE SPAN IN INCHES {- (B) BLADE SPAN IN INCHES - EMBED.- EMBEDMENT 5 TO BE TAKEN BEYOND ANY WALL DRESSING
2- (C) PANEL HEIGHT 2- (C) PANEL HEIGHT LIMITED TO 60" 2- ED- EDGE DISTANCE IS TO BE MEASURED BEYOND THE WALL DRESSING
8- () UNLIMITED PANEL HEIGHT IN INCHES 3- BLADES TO BE WELDED TO JAMBS IN ARCH OR SLOPED SECTIONS 3- METAL STRUCTURE TO BE AT LEAST GOG3-T5 ALUMINUM ALLOY OR ASTM A36 STEEL
4- BLADES TO BE WELDED TO JAMBS IN ARCH OR SLOPED SECTIONS 4- HEADER OR SILL ANCHORAGE IS REQUIRED AT ARCH OR SLOPED SECTION 4- METAL STRUCTURE TO HAVE A MINIMUM 1/8" WALL THICKNESS
5- HEADER OR SILL ANCHORAGE IS REQUIRED AT ARCH OR SLOPED SECTION 5. () ANCHOR TYPE A, Al B, Bl OR C WITH MAX. 1/2* SHIMA R T M e o Py
= EIIZ)AX‘@‘SORR‘“{YF’;?EA;\’}'W’?HB'\; o IC/ VI WAX. 1727 STIM 6- (***) ANCHOR TYPE Al WITH MAX, |/4* SHIM 6- MASONRY TO CONFORM TO ASTM €30
8- (***) ANCHOR TYPE A, B, BI OR C WITH MAX. 1/4* SHIM 7-£777) ANCHOR TYFE A, B, B OR C WITH MAX. 114" SHIM s xggg;lggﬁé%\vvﬁﬁ gfgi’fg%?* 1/4-20 HAMS WITH 1747 NUTS
9- 1/4" ULTRACONS BY DEWALT CAN BE USED AS ALTERNATE TO A AND A1 TYPE ANCHORS

SINGLE LOUVERS WITH AND WITHOUT STIFFENERS

MANUFACTURER:

HARRAY, LLC, dba

RCHITECTURAL
DU V-E-RS

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

E6JF / EEGWF / VEJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

ENGINEERING:

PPMF INC. cxseaso

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

,G6E0ESEE,,
@%%%g Gals,,
4% %\ @E F; @@@@
;@Mwsww@gﬂ gﬁl@@%
o9 Y £ = @
SNCENs g RO\
. A Y
No. 52609 1%~ §
* P S
-
STATEOF §55§

/;gf%
N

W,

- '%&%&

by, A &
% fwm«z \ ‘iﬁ*“%
N SronpL €

%,

%

&
(73 %é%
s "g@@@géy@@g@g@@@

T
Y

-3 Engineer Seal !
Pedgo De Figueredo - PE 52609

MIAMI-DADE BCCO:

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 23-0815.26

Expiration Date 10/31/2028

By
Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
20F 13

DRAWING #:
23-104



utrera
New Stamp


MANUFACTURER:
MULTIPLE VERTICALLY STACKED LOUVERS WITH SECTION SPLIT AND STIFFENER HARRAY. LLG. dba
REHITECTURAL
CORERTRAE CLIP SPACING el ‘8-uvV-E-R-S
— VERTICAL BLADE & . 18
e | PER TABLE 2 BLADE FRAME
ST!FFENERI . />\"\< /—MRZA]ME_ CORRFRAVE. 266 W. MITCHELL AVE.
F o | ] oA ot pSe8 m CINCINNATI, OHIO 45232
m Z ” ¢ Fhas il 77, 40, 1l PH: (888) 568-8371
tH o« i A8 N :
9 i ) o i g e c Hi b FX: (888) 568-8370
6 i ) it >
!!% ) )\% lil \ 77 [@) i:: \ /<\ &}
| 3 2 3 \ N i i \ ;
L= & il NG/ f i & i 1 &
2 W ) il o o PRODUCT:
5 N, £ . 4 - - = _ ERY lF =
o G f ] G 5 i o
< o i E o | ] — g 2 2 =L ¢ |EeJ/EGWF/VeJF
s 4 % i . = | ) I ~ = - ALUMINUM LOUVERS
5 = P | # & o | Ay H  a—" E o~ | | LARGE MISSILE IMPACT LEVEL
o ¥ =3 - &/ H o = I
0 ‘S 7 o = ;T_ Q 2 :F_ 7
z 0 Z W] Z M [
A o - Ik ! z & 1
SR =2 (%- 5 4 2 HD 4 Esf 5 = % £3 m P = ENGINEERING:
(e W7 & O = 9 1 \ u 8 = ] e % RS
g 0 H 5 e g' % —'r:n:—é—\%é & k 5 £ g % 4 it & | SST- PPMF INC CA 32459
= o S 9 = o i S 2 o {5 S 9715 W. BROWARD BLVD. 247
||| 0} E o " S C)l \ZA O E PLANTATION, FL., 33324
il g Ed E PPMF@AOL.COM
m £ & &
Y gg%@@é’@@ggg@
2N il m m 496 g,
: — m F ‘ (2 H ; | (2 i & DE Fro e,
| N2 i i o | ﬁ6/ Hi i ') | \’@ i l & e é" ,
L L e —— ) ————————— { 1o 1 m %@9 /@%‘% &%aﬁ \ CE fv g "o, ‘{% %%
o | ' \_ | \ SN Tk
= e (B/2) BLADE SPAN ———-l~ (B/2) BLADE SPAN ] CORNERS SCREWED e (Bf2) BLADE SPAN NS Ve o p— CORNERS SCREWED e (B/?) BLADE SPAN (B/2) BLADE SPAN  ————] CORNERS g %
W/ (2) #10x1 SDS W (2) #10x1 SDS SCREWED z 1 2
(B) BLADE SPAN  ————————or] (B) BLADE SPAN (B) BLADE SPAN W (2) H F
#10x1 SDS E £ &
RECTANGULAR UNIT HOUSE TOP UNIT ROUND TOP UNIT §
S0 WU
~LUN YR
L EZ CLIP J f’%@@m@@@%@%@z iﬁf:% A
_ #4# - LOUVER BLADE ATTACHED TO JAMES USING (2)#10X] SDS VEW e | ““Engineer Seal |
gﬁé‘é 6\)/ STIFFENER AND W/ SECTION SPLIT APPLICABLE FOR ALL BLADES INSTALLED PERPENDICULAR TO FRAME 043  1.00 Pedro De Figueredo - PE 52609
BLADE SPAN X HEIGHT X DESIGNED PRESSURE I 212 ‘(IS Lo MIAMI-DADE BCCO:
o 0 — G
B C [ PRESSURE| CLIP SPACING ® i T
I P Py PRODUCT REVISED
IN IN * PSP ") € ( ) T 412 as complying with the Florida
Gg 28 : 58‘ z ‘2 :g Building Code 23-0815.26
NOA-No. — )
b o120 2 ¢ K ANCHORS: °
Expiration Date 10/31/2028
26 60 |50 4 5 10 TYPE DESCRIPTION SUBSTRATE ED EMBED P -
NOTES: (MIN) | (MIN) By £
|- (B) BLADE SPAN IN INCHES A I /4" TAPCONS BY ITW CONCRETE 2 1/21 134 Miami-Dade Product Control
2- (C) PANEL HEIGHT T
3. BLADES TO BE WELDED TO JAMBS IN ARCH OR SLOPED SECTIONS g ! :54., %gggsg g: H:w &A{g%%NRY ,2 /2 : :72‘
4- HEADER OR SILL ANCHORAGE IS REQUIRED AT ARCH OR SLOPED SECTION
5- (**) ANCHOR TYPE A, Al, B, Bl OR C WITH MAX. 1/2" SHIM Bl #14 SMS GRADE 5 WOOD | b 1/2
G- (") ANCHOR TYFE Al WITH MAX. 1/4* SHIM C 1/4-14 GR 5 5DS METAL l/2 18
7- (****) ANCHOR TYFE A, B, Bl OR C WITH MAX. 1/4" SHIM
ANCHORAGE NOTES: DATE: O7/16/2023
I- EMBED.- EMBEDMENT IS TO BE TAKEN BEYOND ANY WALL DRESSING SCALE: NA
2- ED- EDGE DISTANCE IS TO BE MEASURED BEYOND THE WALL DRESSING
3. METAL STRUCTURE TO BE AT LEAST 6063-T5 ALUMINUM ALLOY OR ASTM A36 STEEL DESIGN BY: PPMF
4- METAL STRUCTURE TO HAVE A MINIMUM /8" WALL THICKNESS
5. CONCRETE WITH A MINIMUM fc>=3000 PSi
6- MASONRY TO CONFORM TO ASTM C20
7- ANCHOR TYPE C CAN BE REPLACED BY 1/4-20 HHMS WITH 1/4" NUTS
8- WOOD SUBSTRATE WITH S56>=0.55 SHEET DRAWING #:
9. 1/4" ULTRACONS BY DEWALT CAN BE USED AS ALTERNATE TO A AND Al TYPE ANCHORS 30F |3 53104



utrera
New Stamp


MULTIPLE HORIZONTAL LOUVERS W/O STIFFENERS AND SUPPORTED BY MULLIONS

JAMB MULL MULL . 0’!555 SHEETS &, 9, 10 AND | | FOR
1) MULLION
CONNECTION ; CONNECTION ; CONNECTION (B) CALCULATED AS FOLLOW: MULLION AND JAMB CONNECTION
| INTERMEDIATE MULL
. Fry £ T — Bavg=(B | +B2)/2 OR (B2+B3)2
AN i il i © Bmax= MAXIMUM OF (BI, B2, B3)
& e = JAMB MULL
== % =t Bavg= B| =B3 TABLE 3:
N O BLADE W/O STIFFENER AND WITH MULLIONS
T g ] gd 3 t BLADE SPAN X MULL HEIGHT X DESIGNED PRESSURE
£ 2 3 { é E_
2 zo . s ¥ Bavg | L PRESSURE (PSF) Bavg | L | PRESSURE (PSF)
t b5 -@ §o=ka , ;IggNhNAch%ON koo IN N [557 5A | JAMB IN IN RALH
z S¢ & A ‘( gy 72 | 150 [ 150 150 36 150
S g S —h A4 s 84 | 150 | 150 | 150 48 | 125
2 8% > —h b B 30 [96 [ 150 | 150 | 150 30 O 103
o I z § 08| 150 | 150 | 106 72 |72
=2 % ey 20| 150 | 150 | 78 84 53
g o 72 150 | 50 150 24 150
L 3 =H& &4 | 150 | 150 | 150 36 | 123
i = =l 3 =h = 42 5¢ | 150 | 150 | 108 42 48 92
iy &8, SRR FEEY L) T08] 150 | 133 | 76 co 77
\ e ey -\ e 120 143 1 20 55 72 51
72 150 150 } 50 24 150
MULL JAMB MULL MULL SECURED 84 150 | 50 | 41 36 106
JAMB 48 9¢ | 150 3] 95 48 48 81
(B1) BLADE SPAN (B2) BLADE SPAN (B3) BLADE SPAN 1081 139 117 66 60 65
1201 125 105 46 72 45
FINISHED WIDTH - FW: n X B 72 123 123 123 24 123
MULTIPLE MODULES 54 53 53 53 30 5¢
54 26 123 117 84 54 486 72
RECTANGULAR UNIT WiTH BLADE SPAN W/OUT STIFFENER 1081 123 104 59 GO 57
1201 |11 93 43 72 40
3 5 s 72 | 100 | 100 | 100 o4 00
f ke s 60 [ 84 [ 100 | 100 | 100 3 | 86
N L. , 96 | 100 | 100 | 76 60 [ 48| 65
5A MULLION 08| 100 | 93 53 GO 52
1 ALLOY: 6063-T5 1201 100 &4 39 72 36
" / M3 ]t , PROPERTIES: M3
3 Ixx= [4.22 n"™4 .
o - Sxx= 4.64 n" 3 P
I\N '—I[\N
M1 [ vi2
b
Mi L " EXAMPLE TO VERIFY INSTALLATION CAPACITY:
| EXAMPLE | - LOUVER WITH 3 EQUAL B= GO' AND (2) | 20" MULLIONS
sun/ ul] n i - DETERMINE WIND PRESSURE AS GENERAL NOTES #4. (Pd=80 PSF)
2- DETERMINE "B’ (Bmax=G0", Bavg= (GO+GOY2=60")
5.5Z MULLION ALTERNATE | - 5.5Z MULLION ~ ALTERNATE 2 - 5.5Z MULLION 3 S DETERMINE MULLION Srai. (2 120+ 1%° For (BLADD
ALLOY: 6063-T5 ALLOY: 6063-T5 ALLOY: 6063-T5 ALTERNATE 5. JAMBS SECURED TO SUBSTRATE AT 1 6'0C - USE TABLE | - Pda= {00 FSF
PROPERTIES: PROPERTIES: PROPERTIES: S 5A MULLION - DETERMINE MULLION CAPACITY. (Bavg=60" X t‘= 120" - 5.5Z = 100 PSF, 5A = 84 PSF AND RHLH= NA
- ~ ~ ~ : - - SEE SHEETS 8, 10 AND | | FOR MULLION ANCHORAGE
gﬁ;j; 77 m"l 34 ';;‘(;39‘:’ 'OG m'l 34 g’:jg 'g m”l\ 34 E [é\gbof—’\{;}{?’ﬁfg? ™ 5 PRODUCT RATING MUST BE GREATER OR EQUAL THAN Pd=80 PSF

LH RH MULLION
ALLOY: 6063-T5
PROPERTIES:
bxx= 1.00 n™4
Sxx= 0,869 n" 3

JAMB MULLION
ALLOY: 6063-T5
PROPERTIES:
Ixx=3.27 m"™4

Sxx= 1.1l n"3 __j

Ixx= 14.47 n™4
Sxx= 4.66 In"3

MANUFACTURER:

HARRAY, LLC, dba

ROHITECTURAL
UV E RS

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

EGJF / EEWF / VEJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

ENGINEERING:

PPMF INC. caseass

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

Fe6sg,,

CDE £ ;ggﬁ

(0a SRy,

SONCEN g o
No. 52609
*
STATE OF
'fé ory el

¥, &
Ps00sna095E"

—ONAL &7, ﬂ%}
S, %WWW@@%@%%%@@;’E Eg &
Engineer Seal

Pedro De Figueiredo - PE 52609

%ﬁg@%@

) &
‘*@\ &
@%@@@@%
g

%

T,
",
NG

o

e,

£

%
P
s,
g,
g,
5
o
o
e

%

L2

=

§5060988800,,
Ak,
R#* O

eop00909805°

&,

\SL g
% 580°
2¢%
o
o
e,
T,
'
Tocpcape

%‘%Zﬁ

g89%
4
@%@
4,
/, gg;,g
s

b,
@
P

DESIGNED CONTROLLED BY MULLION -- Pd allowable= 84 PSF - 5A MULL OK

EXAMPLE 2 - LOUVER WITH 3 UNEQUAL B =60", B2=36", B3=60", AND (2) 72" MULLIONS
I - DETERMINE WIND PRESSURE AS GENERAL NOTES #4. (Pd+45 PSF)

2-
- BASED ON TABLE }: Bmax= GO" --- Pd= 100 P3f (BLADE)

- DETERMINE MULLION 5PAN, (L=72")

- DETERMINE JAMEB SPAN SECURED AT TOP 4 BOTTOM. (L=72")
- DETERMINE MULLION CAPACITY. (Bavg=48 X L=72") - 5.5Z= {50 P5F, BA= 150 PSF, RHLH= 45 P5F
- DETERMINE JAMB CAPACITY. (B=60" X L=72") - JAMB= {00 PSF
- SEE SHEETS 8, 10 AND | | FOR MULLION ANCHORAGE

o.

N DB

DETERMINE "B" (Bmax=60", Bavg= (60+36)/2=48")

PRODUCT RATING MUST BE GREATER OR EQUAL THAN Fd=45 PSF

DESIGNED CONTROLLED 8Y MULLION RALH - Pd allowable= 45 PSF - RHLH MULL OK

MIAMI-DADE BCCO:

PRODUCT REVISED

as complying with the Florida

Building Code
NOA-No. 23-0815.26

Expiration Date 10/31/2028

i
By £
Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
4 0F 13

DRAWING #:
23-104



utrera
New Stamp


MULTIPLES HORIZONTAL LOUVERS W/ STIFFENERS AND SUPPORTED BY MULLIONS

SEE SHEETS &6, 9, 1O AND | | FOR
MULLION AND JAMB CONNECTION

JAVIB MULL MULL
CONNECTION CONNECTION CONNECTION
Y— STIFFENER ESTIFFENER E STIFFENER
1
s (i T ‘
D — LI W 1 1w o
[z BILLLI P 1y L L 1T
S | i I : — I
1w M 1 é A 1
1} LRI 11 LR 11l
75 G z3
=] t ] 1] o ]
c 5 T~ ra— s
5 2, ti i 2 i %_ Y
L oEE ' I z 1] =INT. MULL || X
g 05 —% ” P A CONNECT! F oo
£ og : ii 0 = == % QN g
L Eg il e i = ~ il £aQ
¥ z2 3 R P B 1 k 0
2 §& i s = fit Hk —HIY © Y 5
g2 I I Z T ©
- 131 ::: 3—) ( 6 } y
i i zo "8/ i
i I 3 1] It
A 1 HEY 1 2 WY 1 |
\‘ - 1H Ly \‘ iH 1y \\ 1] . 1]
N | B 1 Y =) k
\ el 1 [ Y " [ A w1 | ©
MULL JAMB MULL MULL SECURED
JAMB
pt——  (B1) BLADE SPAN =~ (B2) BLADE SPAN (B3) BLADE SPAN  ———=
FINISHED WIDTH - FW: n X B
MULTIPLE MODULES
RECTANGULAR UNIT WITH BLADE SPAN W/ STIFFENER
3 3 3 ‘mioo
= 3
Ly t
i 5A MULLION
M3 I I - ALLOY: 6063-T5
o / o PRCPERTIES: M3
] f— Ixx= 14.22 mn™4 i
o o v Sxx= 4.64 n"3 H
M1 [ M2
Mi \—-MZ 5_" R

5.5Z MULLION
ALLOY: 6063-T5
PROPERTIES:
Ixx= 34.7 m"™4
Sxx= 8.7mn"3

ALTERNATE | - 5.5Z MULLION
ALLOY: 6063-T5
PROPERTIES:

xx= 35,6 n"4

Sxx= 92.0In"3

LH RH MULLION
ALLOY: 60G63-T5
PROPERTIES:
Ixx= 1,00 n"™4
Sxx= 0,69 in"3

ALTERNATE 2 - 5.5Z7 MULLION
ALLOY: 60O63-T5
PROPERTIES:

Ixx= 35.7 m™4

Sxx= 2.0In"3

JAMB MULLION
ALLOY: 6063-T5
PROPERTIES:
Ixx=3.27 in"™4
Sxx= 1.l mn™3

ALTERNATE

5A MULLION
ALLOY: 6063-T5
PROPERTIES:

Ixx= 14,47 n"~4

Sxx= 4.686 In"3

TABLE 4:

BLADE W/ STIFFENER AND WITH MULLIONS

BLADE SPAN X MULL HEIGHT X DESIGNED PRESSURE

Bavg | L PRESSURE (PSF)
IN IN 1557 S5A RHLH | JAMB
24 {50 150 108 [50
72 36 150 150 72 150
46 150 150 54 150
60 150 140 43 144
24 150 150 92 150
&4 36 150 50 G2 150
48 150 150 46 150
c0 143 120 37 1 24
24 150 150 51 150
26 36 150 150 54 150
45 150 131 40 135
60 125 105 32 106

(L) MULLION SPAN
(B) CALCULATED AS FOLLOW:

INTERMEDIATE MULL

JAMB MULL
Bavg= B|=B3

Bavg=(B 1 +B2)/2 OR (B2+B3)/2
Bmax= MAXIMUM OF (B, B2, B3}

MANUFACTURER:

HARRAY, LLC, dba

RCHITECTURAL
‘O-U-V-E-R-S

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

E6JF / EGWF / VEJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

ENGINEERING:

PPMF lNC. CA 32459

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

gﬁﬁggtﬁ@@ﬁ@@ﬂgg

4 89 e,
< DE Frg

o

%%®® @ 8¢, ﬁ%@%
& 4850880504, v,

C S N CEN §
&N &
e

i

{ No. 52609
*
STATE OF

@,

S

®
@
o
@@§@@
§

“eswsengsnses®®

ﬁé:;?
>

\{‘?@7@

888,

v

&
5
X3
A
- &
Socassasasts®®

g,

ﬁ;{f&% % O

- @WE@@W@

\ Engineer Seal
Pedro De Figuerredo - PE 52609

o~ OUS N

EXAMPLE TO VERIFY INSTALLATION CAPACITY:

EXAMPLE 3 - LOUVER WITH 3 EQUAL B= 72" AND (2) 60" MULLIONS

| - DETERMINE WIND PRESSURE AS GENERAL NOTES #4. (Pd+80 PSF)
- DETERMINE "B" (Bmax=96", Bavg= (96+96)/2=96" )
- BASED ON TABLE 1. 1: Bmax= 96" --- Pda= 150 PSF (BLADE W/ STIFFENER)
- DETERMINE MULLION SPAN. (L=60")
- JAMBS SECURED TO SUBSTRATE AT {6"0C - USE TABLE |.{ -- Pda= 94 PSF
- DETERMINE MULLION CAPACITY. (Bavg=9¢" X L=60"):

5.57 = |25 PSF, 5A = 105 PSF AND RHLH= 32 PSF

- SEE SHEETS 8, 10 AND | | FOR MULLION ANCHORAGE
- PRODUCT RATING MUST BE GREATER OR EQUAL THAN Pd=80 P5F
DESIGNED CONTROLLED BY MULLION -- Pd allowable= |05 P53f - 5A MULL OK

EXAMPLE 4 - LOUVER WITH 3 UNEQUAL B =96", B2=72", B3=36", AND (2) 36" MULLIONS
| - DETERMINE WIND PRESSURE AS GENERAL NOTES #4. (Pd+45 PSF)
2- DETERMINE "B* (Bmax=96", Bavg= {86+72)/2=584")
3- BASED ON TABLE |.1: Bmax= 9€" --- Pda= 150 PS5f (BLADE W/ STIFFENER)
4- DETERMINE MULLION SPAN. (L=36")
5- DETERMINE JAMB SPAN SECURED AT TOP ¢ BOTTOM. (L=36")
G- DETERMINE MULLION CAPACITY. (Bavg=84 X L=36"):

5.5Z= |50 P5F, A= 150 PSF, RHLH= 62 PSF

7- DETERMINE JAMB CAPACITY. (B=96" X L=36") - JAMB= |50 PSF
8- SEE SHEETS 8, 10 AND 1] FOR MULLION ANCHORAGE
9- PRODUCT RATING MUST BE GREATER OR EQUAL THAN Pd=45 PSF

DESIGNED CONTROLLED BY MULLION RALH -- Pd allowable= 62 PSF - RHLH MULL OK

MIAMI-DADE BCCO:

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-0815.26

Expiration Date 10/31/2028
A

By £

Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
50F I3

DRAWING #:
23-104



utrera
New Stamp


I

ED: EDGE
DISTANCE

%
3

CONT BLADE —<

SUPPORT (L2)

e
o
©

MAX, —

1z
GAP

|

SUPPORTING
STRUCTURE
BY OTHER

S

EZ CLIF WITH (2)ANCHORS
SEE ELEVATIONS FOR
SPACING AND QUANTITY

/‘ F2/r4

.00

Ll

OFTIONAL

PERIMETER

CAULKING

BY OTHERS

EXTERIOR

EZ CLIP WITH (2)
¢ ANCHORS TYPE A, BOR C
SEE ELEVATIONS FOR

SPACING AND QUANTITY

CONT. 1/4-2X4 6063-T5
ALUMINUM ANGLE LOCATED
" FROM EACH JAMB

D

f

MAX. 16'0C

T #10x1 HHsDS sPAcED AT 18 OC
AND 4" FROM EACH END

. \ EZ CLIP WITH (2)ANCHORS
SEE ELEVATIONS FOR
SPACING AND QUANTITY

SECTION DETAILS

EXISTING
STRUCTURE
BY OTHER

OFTIONAL
PERIMETER
CAULKING
BY OTHERS

q”jl]/— F1/F3

L3

Lt

O

Ll L F2/F4

X ) EXTERIOR.

-

/— F1/F3

12
GAP

3
al

%
=

OPTIONAL
PERIMETER
CAULKING
BY OTHERS

OPTIONAL
PERIMETER
CAULKING
BY OTHERS

S
2_

EZ CLIP WITH (2)ANCHORS
/ SEE ELEVATIONS FOR
SPACING AND QUANTITY

\ EZ CLIP WITH {2)ANCHORS

SEE ELEVATIONS FOR
SPACING AND QUANTITY

fé-
=

172"
GAP

OPTIONAL
PERIMETER
CAULKING
BY OTHERS

EXTERIOR

SUPFPORTING
STRUCTURE
BY OTHER

ED: EDGE
DISTANCE

118"
BLADE TO FRAME

1/8"
BLADE TO FRAME

EZ CLIP WITH (2)ANCHORS
SEE ELEVATIONS FOR
SPACING AND QUANTITY
ONLY REQUIRED FOR

ARCH AND SLOPED SECTIONS

\ EZ CLIP WITH (2)ANCHORS

SEE ELEVATIONS FOR
SPACING AND QUANTITY

(TAN
\ &/ WELDED

/— FI/F3

BLADE TO FRAME

BLADE TO FRAME

/8"

1/8"

| rer4

(2AY weLpep

©./ SILL CONDITION APPLICABLE FOR
SHAPE OFTIONS ROUND,
OCTAGON, DIAMOND AND
TRIANGLE

£2 CLIP WITH {2)ANCHORS
SEE ELEVATIONS FOR
SPACING AND QUANTITY

EZ CLIP WITH (2JANCHORS
SEE ELEVATIONS FOR
SPACING AND QUANTITY
ONLY REQUIRED FOR

ARCH AND SLOPED SECTIONS

SUPPORTING
STRUCTURE
BY OTHER

EMBED. —

ED: EDGE L
DISTANCE

MANUFACTURER:

HARRAY, LLC, dba

RCHITECTURAL
‘DU V-E-R-S

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

E6JF / EGWF / VEJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

ENGINEERING:

PPMF INCo CA 32459

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

%@g;ﬁ%@@@g@@@@&
0% - N
%éf%g o @E F i @@ﬁ“@@

& PYETIITY @,
% 5 4
SN 5%%@
AW @ %, @
5%

f%%; 3

2N

gy

#
STATE OF
£l AR

Fa o R weé”%i%@?%%%
%, g? BRupsRs; %% B
W&’gﬁ% ﬁi}& %’%@%@% o e

[ Engineer Seal
Pedro De Figueiredo - PE 52609

%@gg@é?@&@@%}@@?
G BITHDLE

"
ﬁmge

(]

%&ﬁw@
v
Y
e,
@Wg@o

MIAMI-DADE BCCO:

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 23-0815.26
Expiration Date 10/31/2028

By%

Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
6 OF I3

DRAWING #:
23-104



utrera
New Stamp


(2) #10X| SDS
INTO STIFFENER
- SCREW SPLINES

EXTERIOR

b

BLADE STIFFENER AND SECTION SPLIT
DETAILS ¢ ASSEMBLY

172"
GAP

oy
@ NON WELDED 2
VERTICAL SECTION

OFTIONAL

PERIMETER
CAULKING
BY OTHERS

(1) #10X1 SDS
M1 OR M2 #10X1 5D3
—\ / SPACED AT 2'0C
Vi 7
9]

STIFFENER TO
FRAME TYP.
~y 18" > 1.25"

STIFFENER TO

FRAME TYP.

STIFFENER TO BLADE
AND BLADE SUPPORT
BRACKET EVERY 2" TYP,

WELDED
w VERTICAL SECTION

()
o
&
2 8}
a " 28
] 28 Y
Q i =
< w N E <
o o
) 0 ER
iy - Q
5 8§
3 |
* 85 A
N\ L B
CUP
l — 2.25 —] ’ c
N L
A SECTION AA M1 OR M2 /
STIFFENER SECURED TO ANGLE _\ ‘
E E ya) /

32 1) #10X} 505 NE .
N-S6Y n-5yY i
D&B? ( SESV @8
85 % Z 30 % Z =
S0 ZLEQ
2EP0 2g0 T P——

ESED ESZED
godw 5O
Ow P Qw,®
~ 03w —oHw
uz2s S
< < wo_
g = gaQ
N\ 2 R
cupP
- 2.25 _‘_‘
22
VvV
SECTION CC
STIFFENER SECURED TO ANGLE
- v » o B 3
O -
— 18 ¥ ]
5 %
o E a0
3] gg
N &
]
o 52
o) MI OR M2 T8
X \ 5
8 7 | LK
R
(2) #10X1 505 Eo
(NTO STIFFENER ES
h SCREW SPLINES £
N 55
N\ 3
L2 @
cupP
7 — 2,25 —
B B STIFFENER
SECTION 8B TO FRAME TYP.
Ny STIFFENER SECURED TO SILUHEADER - FIF3 €2 CLIP WITH (2)ANCHORS
O ! e - SEE ELEVATIONS ON
ggg L83 SHEET 3 OF |3 FOR
T U2 #10x1 505 SPACING AND QUANTITY
INTO STIFEENER ONLY REQUIRED FOR
OPTIONAL SCREW SPLINES OPTIONAL ARCH AND SLOPED SECTIONS
PERIMETER
PERIMETER AL
CAULKING BY OTHERS
BY OTHERS

MANUFACTURER:

HARRAY, LLC, dba

ROCHITECTURAL
BU-V-E RS

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

EGJF / EGWF / VGJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

ENGINEERING:

PPMF lNCa CA 32459

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

. (090068 55,,
3

&g@%h @E F&f%

U pepetsttisses,

&

&
3
@%@@
&

i,
Ty,

O
a"’e%@ y E s
&x\@ %$g%

& AR
El %
o
40%

#
o
“00sunasseonet™”

STATE OF

| O £ B o
b 4:3 R 2'@ N
3 vazok ;4
StonaL Dt |y
Y 055054000898 1 Vi “
¢ Engineer Seal ¥
Pedro De Fiqueredo - PE 52609

,,%;
ER % O
Pe850955050085"

,
s,

3

MIAMI-DADE BCCO:

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-0815.26

Expiration Date 10/31/2028
)

By Jé

Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
7 OF 13

DRAWING #:
23-104



utrera
New Stamp


MANUFACTURER:
MULLION SECTIONS
N TABLE 3A - INSET MULLION ANCHORAGE HARRAY, LLC, dba
RHLH MULL - . DESIGNED LOAD CAPACITY (PSF) RCHITECTURAL
. . 5A MULL ‘ 5.5Z MULL NIl -
@ JAMB MULL weLeD ey . - — &/ Bavg| L A B. Bl C e or mcnoms D-U-V-E-R-S
Al s IN_]IN & 9 O] 1 1] & |#OFANCHORS
i M 3 AN s qip . o 5¢ [150]150]150]150] 150 266 W. MITCHELL AVE.
STRUCTURE » fi\essmt=t ‘ 36 |108]14811501150[150] 150 CINCINNATI, OHIO 45232
_______ , | ——— 1) M3 SEE SHEET {2 FOR ’
By OTHER : MULLION ASSEMBLY Y 12011331150{150]150] 150 PH: (888) 568-8371
M4 CLIP (1 ROWS) (1 ROWS) ] 96 1143 115011501150} 150 FX: (888) 568-8370
5/16-18X | 1/4" HHM BOLTS ; (2 ROWS) #14%1 1/2" SDS =z ;
/ P A eAGE WITH MATCHING NUTS AND o e A BOLTS SPACED AT 2%, | 1" FROM B 42 [1081127]143]150|150] 150
‘ LOCK WASHERS SPACED AT LOCK WASHERS SPACED AT s ] ENDS AND 18'0C i 20111411291 123 150! 160
_____________ 4" FROM ENDS AND 18" OC 4" FROM ENDS AND 18" OC | o 5 1125 1411150 T80 T80
. / / 5148 [TO&|T1T[125[139(150] 150 PRODUCT:
° 120|100 113][125[138] 150
i " Wi 2 " w2 E 5¢ |11 [123]123[123]123 FE6JF / EGWF / VGJF
N\ A / =154 [T08]99 [111[123[123[123 ALUMINUM LOUVERS
a 17\ i T \ V7 "\ v/ 0 120189 [100[T111[122]123 LARGE MISSILE IMPACT LEVEL
l 8 g 96 100|100 100|100} 100
w9 ) 60 [TO&[89 |[T00|100[T00| 100
]9 #10K1 505 120180 [ 90 J100[100] 100
an P
e IRTRTOUIQURIOR | TS, 2L T S FOSOt | SRSt [ S A U | RO ————
. } Bavg| L A, B, Bl C  [rvee o monoes
g IN_|IN @) 9 IO 11} & |#OFANCHORS ENGINEERING:
EXTERIOR Lt LI Ll L 4 36 [I150[150|150{150] 150
MAX. __l | 5] 52 53  Bn MULTIPLE MODULES __ % 72 |48 [150(150]|150[150] 150 PFM F I NC o CA32459
Lcar _'_ e Ve 18 TO RIGHT SIDE JAMB ' i 60 | 1331501 1501507 150 9715 W. BROWARD BLVD. 247
2 gg;‘ﬁg%{ GAP GAP GAP E 3¢ 1501501501150 150 PLANTATION, FL. 33324
CAULKING r |84 [48 [143]150]150|150] 150 PPMF@AOL.COM
BY OTHERS S 60 [114]129]143]150] 150
W 36 |50 1501150150} 150 Q@w%@%@m@%@@@%@
ED: EDGE 2|96 [48 [125[T4T|T50T50] 150 & w. DE Fyn e,
SUPFORTING poTAeE 2N B c0 [TOO[113[125[138] 150 S50 N, S %,
MULLION CONNECTIONS FOR(E) SECTIONS - INSET MOUNT SR B
& 5 e @
) & »% %
§ § No.52609 1©%
l L1 l S % %4 P g
(10) #14X 1 172" SDS SECURING M4 (L) MULLION SPAN §o8
| . ANGLE TO THE HEADER/ SiLL FRAMING (B) CALCULATED AS FOLLOW: STATE OF gg: 4%’; é@
EE ' M1 ‘i\ | ! /% M2 INTERMEDIATE MULL % A @fa &y é"%‘
= % M4 ALUMINUM CLIP WITH Bavg=(B| +B2)2 OR (B2+DB3y2 ;{ ORY ?ﬁ?@" «f@ &
CLUSTER OF MIN. Briax= MAXIMUM OF (B1, B2, B3} E @5/@;@&”%%@ %@@ %%%
(8) ANCHORS - : .
e o o ® e o i I
— i e i s i . | | 2 Engineer Seal v
B %ﬁiﬂﬁﬁgéég ) ) Pedro De Figueiredo - PE 52609
2.00 2.00 2.00 2.00 2.00 2.00 2.00 MIAMI-DADE BCCO:
SEE TABLE 3A FOR QTY OF ANCHORS REQUIRED
" MINIMUM (&) ANCHORS AT 2'0C
, PRODUCT REVISED
1.00 1.00 ANCHORS: as complying with the Florida
SEE TABLE 3A FOR QTY OF ANCHORS REQUIRED TYPE | DESCRIPTION SUBSTRATE | ED EMBED Building Code
MINIMUM (8) ANCHORS AT 2'0C (MIN) | (MIN) NOA-No. 23-0815.26
~ = - 2.00 ~}— 2.00 —— 2.00 ~}~ 2.00 —}— 2.00 —}- 2.00 ~|-- 2.00 A 1/4" TAPCONS BY ITW | CONCRETE 2 1/2| 134 Expiration Date 10/31/2028
A B 1 /4" TAPCONS BY ITW | WOOD | | /2 P E—
BLADE W 5.57 é é 6 6 é $ Bl #14 SMS GRADE 5 WOOD | I 1/2 By »g%ﬁ
MULL O (o] C 1/4-14 GR 5 5D5 METAL 72 178 Miami-Dade Product Control
L = — - 2T — — e , ANCHORAGE NOTES:
}0 ANCHORS T |- EMBED.- EMBEDMENT 15 TO BE TAKEN BEYOND ANY WALL DRESSING
8 ANCHORS i 2. ED- EDGE DISTANCE 1S TO BE MEASURED BEYOND THE WALL DRESSING
e T, SR B e e e e B M ol M2 3- METAL STRUCTURE TO BE AT LEAST GOG3-T5 ALUMINUM ALLOY OR ASTM A36 STEEL
X jﬁ_l [ 4- METAL STRUCTURE TO HAVE A MINIMUM |/8" WALL THICKNESS
ez talley ./ 5- CONCRETE WITH A MINIMUM fe>=3000 PSI DATE: 07/1 6/2023
6- MASONRY TO CONFORM TO ASTM C90 :
7- ANCHOR TYPE C CAN BE REPLACED BY 1/4-20 HHMS WITH (/4" NUTS SCALE: NA
. 8- WOOD SUBSTRATE WITH 56>=0.55 :
{10y #14x | 112" 505 SECURING M4 7 174" ULTRACONS BY DEWALT CAN BE USED AS ALTERNATE TO A AND Al TYPE ANCHORS DESIGN BY: PPMF
I'1 ANCHORS
9 ANCHORS
AR SHEET DRAWING #:
50F 13 23-104
cL



utrera
New Stamp


SUPPORTH

BY OTHER

STRUCTURE

JAMB MULLION CONNECTIONS FOR(Z) SECTIONS - INSET MOUNT

ED: EDGE
NG DISTANCE

o
o
o
b
~

BLADE

3.8l

6.00 JAMB

JAMB MULLION
ADJACENT TO A WALL

M4 ALUMINUM CLIF WITH
CLUSTER OF MIN. (4) ANCHORS

CLUSTER OF (5)
#14X 1-1/2 DS

F2/F4

I (5) #14X | 1/2" SDS

SECURING M4 ANGLE TO THE
HEADER, SILL AND JAMB

® ii i_

SEE TABLE 3AJ

FOR QTY OF ANCHORS REQUIRED [

MINIMUM (4) ANCHORS

1.00

L ]—— 2.00 —}— 2.00 —|— 2.00 —

: - £ g2
(5) #14X | /2" 5DS
SECURING M4 ANGLE TO
THE HEADER, SiLL & JAMB

JAMB MULLION
ADJACENT TO ANOTHER
JAMB MULLION

LOUVER

M7

—— JAMB MULL

JAMB MULL —

LOUVER

JAMB MULL

TABLE 3AJ - INSET JAMB MULLION ANCHORAGE
DESIGNED LOAD CAPACITY (PSF)

MANUFACTURER:

HARRAY, LLC, dba

RCOHITECTURAL
‘BU-V-E-R-S

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

E6JF / EEGWF / VGJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

ENGINEERING:

PPMF 'NC- CA 32459

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

(adto88Ese,,
®@§@ Ep,
o W DE F:fé? s,
%% @ 58E4E0806s, 0 %

& @ o G o, {@/ %
S NN RS
s’y %22
G & % =
§ § No.52609 1°%
$ K ¥ i g %
[ ?"L ;? )3
9% sTaTEOF SES
%% % ¢ éf;”f §
2 B, A # &
3 %ol o W‘»‘:‘?@W {% &

#ous400007°" %%@'

i

‘, el
i\ ™ Engineer Seal
Pedro De Figuerredo - PE 52609

T

Tala
.

S/onaL %§@f

Bavg L A, B, Bl C TYPE OF ANCHORS
IN IN 4 5 G 4 # OF ANCHORS
96 |1501150| 150150
36 {106 [T46 11501150150
v 120133150150 (150
i 9¢ |143 (150150150
b 42 [T08][127]150]150[150
= 120|114 143150150
® 56 |125 (150150 [150
5148 [TOB[TTT|139]150]|150
g 20 100125150 | 150
e 96 |111 (123123123
E 54 [108|99 (123123123
a 120189 |1111123[123
2 96 [100]100] 100100
60 {10889 [T00[100]|100
20| 80 |100[100 100
Bavg) L A, B, Bl C | TYPE OF ANCHORS
IN IN 4 5 G 4 | #OF ANCHORS
w 36 |150|150]150([150
g 72 |48 |150[150[ 150150
i 60 |133[150[150[150
5 36 |150|150]150 150
= |84 [48 [T43|150[ 150150
s GO | 114143150150
w 36 |150 150150150
3|96 [48 125|750/ 150150
60 |100 125|150 (150
{L) MULLION SPAN
(B} CALCULATED AS FOLLOW:
INTERMEDIATE MULL
Bavg=(B 1 +B2)2 OR (B2+B3)2
Bmax= MAXIMUM OF (B, B2, B3)
JAMB MULL
Bavg= B! =B3
ANCHORS:
TYPE | DESCRIPTION SUBSTRATE | ED EMBED
(MIN) | (MIN)
A [/4" TAPCONS BY TW | CONCRETE 2 1/2| 1 3/4
B [JZ"TAPCONS BY MW | WOOD ] I 1/2
Bl #14 5MS GRADE 5 WOOD ] I 1/2
C [/4-T4 GR 5 5D5 METAL 172 178

ANCHORAGE NOTES:

|- EMBED.- EMBEDMENT IS TO BE TAKEN BEYOND ANY WALL DRESSING

2- ED- EDGE DISTANCE IS TO BE MEASURED BEYOND THE WALL DRESSING

3- METAL STRUCTURE TO BE AT LEAST 6063-T5 ALUMINUM ALLOY OR ASTM A36 STEEL
4- METAL STRUCTURE TO HAVE A MINIMUM 1/8" WALL THICKNESS

5- CONCRETE WiTH A MINIMUM fe>=3000 P51

&- MASONRY TO CONFORM TO ASTM C90

7- ANCHOR TYPE C CAN BE REFLACED BY 1/4-20 HHMS WITH 1/4" NUTS

&- WOOD SUBSTRATE WITH 5G>=0.55

9- 1/4" ULTRACONS BY DEWALT CAN BE USED AS ALTERNATE TO A AND Al TYPE ANCHORS

MIAMI-DADE BCCO:

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-0815.26

Expiration Date 10/31/2028
7

By £

Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET DRAWING #:
90F |3 23-104



utrera
New Stamp


(3} 5/16X| HH BOLT
W/ 5/16X7/8" NUTS

(3) 5/16X1 HH BOLT
[~ INTO /4" STEEL
/]

’

L~
1

Lms

L~ 5.52, 5A
A1 muus

e

(2) 5/16X1 HH BOLT

~ INTO 1/4" STEEL

BY OTHERS

STEEL STRUCTURE
[ 70 BE PROVIDED

i

~

N~ M5

(3) 516X} HH BOLT
W/ 5/1 6X7/8" NUTS

5.5Z & 5A MULLION CONNECTIONS - BUILT OUT MOUNT

(3) 5/16X] HH BOLT
INTO /4" STEEL

(3) 5/16X1 HH BOLT
- W/ 5/16" NUTS

M5

MANUFACTURER:

HARRAY, LLC, dba

RCHITECTURAL
QU V-E-R-8

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

PRODUCT:

EGJF / EEWF / VGJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

CONNECTIONS ARE ACCEPTABLE FOR ALL
CONDITIONS LISTED ON TABLES 3 OR 4

5.5Z & 5A MULLIONS

ANCHORS:

] TYPE

DESCRIPTION SUBSTRATE | ED EMBED

Cl
(3) 5/16X1 HH BOLT

5/16-186 GR 5 HH BOLTS| METAL 1/2 1/4

ANCHORAGE NOTES:

KTO /4 STEEL |- BOLTS TO HAVE FULL TREAD PENETRATION INTO STEEL

2- BOLTS TO BE LOCK IN PLACE WITH PERMATEX THREALOCKER BLUE

3- METAL STRUCTURE TO BE AT LEAST /4" THICK ASTM A36 STEEL

4- CONNECTIONS ARE INTERCHANGEABLE, IT CAN BE LOADED IN SHEAR OR TENSION
5- 5/16-16 GRADE 5 HH SELF DRILLERS CAN BE USED AS ALTERNATE BOLTS

]

(3) 5/16X1 HH BOLT
- W/ 5/16" NUTS
M5 —]

L E /

RHLH

ENGINEERING:

PPMF INC. cuseass

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

%@§@§@@§$£§ﬁ§§§@§$
%@‘%%‘% W DE £/ e,

SR E L
RIS €= SN

$ g

g e ,

k4 4 % @
& & & " % =
§ § No.52609 1°%
§ :
St * P¥ i
T STATE OF ég‘fg
% ’ A & &
L OR ‘i)j;;ﬁ N

e U R ~
2600055450006 % &

s %
SronaL St
3 “oee0ss080a888°%" 1 iéﬁ

v Engineer Seal
Pedro De Figuewredo - PE 52609

MIAMI-DADE BCCO:

PRODUCT REVISED

as complying with the Florida
Building Code

NOA-No. 23-0815.26

Expiration Date 10/31/2028
p

By Je

Miami-Dade Product Control

DATE: 07/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET DRAWING #:
IOOF 13 23-104



utrera
New Stamp


EXTERIOR

N\

RN

[ [

[

AN
EN oo

RN

N\

S

AN

O\ )\

(2) 5/16X1 Hr BOLT
W/ 5/1 6X7/8" NUTS

(2) 5/16X1 HH BOLT
- INTO 1/4" 3TEEL

4 Vi

\ f/
o

2.25 —

i
|

N

A\

STEEL STRUCTURE
TO BE PROVIDED
BY OTHERS

(2) 5/16Xi HH BOLT
Ve W/ 5/16X7/8" NUTS

(2) 5/16X1 HH BOLT
I INTO /4" STEEL

/’_\/
/\

/] A

JAME/ MULL SPAN

i

NN

NN

A\

L == -

\— STEEL STRUCTURE
TO BE PROVIDED
BY OTHERS

{2) 516X Hit BOLT
INTO 1/4" STEEL
STEEL STRUCTURE
TO BE PROVIDED
BY OTHERS

) Nt

2.00

\

T SO\

1.00
— 2.25 ‘—'

\-MS

/\
/\

JAME/ MULL SPAN

{2) 5/16X1 HH BOLT
[ W/ 5/16X7/8" NUTS

/’\_}

JAMB 4 RHLH MULLION CONNECTIONS - BUILT OUT MOUNT

(2) 5/1eX! Hil BOLT

171 6" NEOPRENE SPACER ~—____|

M5

(2) 5/16X1 HH BOLT
INTO 1/4" STEEL

(2) 5/16X 1 HH BOLT

~ W/ 5/16" NUTS

4
INTO 1/4" STEEL —_| S
/

B

(2) 571 6X1 rir BOLT
W/ 5/16X7/8" NUTS

N o
b

JAMB ﬁ

&

(2) 5/1eX] HH BOLT

INTO 1/4" STEEL Y

M5~

(2) 5/16X1 HH BOLT
W/ 5/16X7/8" NUTS

(2) 5/16X1 HH BOLT

\INTO 174" STEEL

o

|
|

\

7/

M5 —]

(2) B/16X1 HH BOLT
~ W/ 5/16" NUTS

/

RHLH

CONNECTIONS ARE ACCEPTABLE FOR ALL
CONDITIONS LISTED ON TABLES 3 OR 4
JAMB MULL, RH LH MULL

MANUFACTURER:

HARRAY, LLC, dba

RCHITECTURAL
B UV E RS

266 W. MITCHELL AVE.
CINCINNATI, OHIO 45232
PH: (888) 568-8371
FX: (888) 568-8370

ANCHORS:
TYPE | DESCRIPTION SUBSTRATE | ED EMBED
Cl 5/16-16 GR 5 HH BOLTS| METAL 1/2 /4

ANCHORAGE NOTES:

|- BOLTS TO HAVE FULL TREAD PENETRATION INTO STEEL

2- BOLTS TO BE LOCK IN PLACE WITH PERMATEX THREALOCKER BLUE

3- METAL STRUCTURE TO BE AT LEAST 1/4* THICK ASTM A36 STEEL

4- CONNECTIONS ARE INTERCHANGABLE

5- USE TABLES | OR 2 TO CALCULATE THE BLADE CAPACITY WHEN MULLION RHLH 1S
ANCHORED AT 16" OC.

6- 5/16-18 GRADE 5 HH SELF DRILLERS CAN BE USED AS ALTERNATE BOLTS

PRODUCT:

EGJF / EGWF / VEJF

ALUMINUM LOUVERS
LARGE MISSILE IMPACT LEVEL

STEEL STRUCTURE BY OTHERS

(2) 5/16X| HH BOLT
INTO 1/4" STEEL

L
RHLH
MITTERED
WELDED
BLADE
(2) 5/16X1 1 BOLT
W/ 5/1 6" NUTS

ENGINEERING:

PPMF INC. caseass

9715 W. BROWARD BLVD. 247
PLANTATION, FL. 33324
PPMF@AOL.COM

. T

2,
%%@%@ ¥ DE Ff s,
% » Mégsaéawsw@gﬁg ‘%%
SR

s [
§ ¥y S %
@fﬁf «.?“ﬁ o %‘% é}%&
§ { No.52609 1©%
Sk : ik S
i 4
Y STATEOF §&5§
3 e
%5 {@%%i 4 QQ \ f:)?;@*’& %‘f\% %%g
. & 8

6”«2’&@9«9@“&@45“’ O
Stonar E’ |
-, @@@@@@%g%@gg% ?E%Q

Engineer Seal
Pedro De Figuerredo - PE 52609

MIAMI-DADE BCCO:

PRODUCT REVISED
as complying with the Florida
Building Code

NOA-No. 23-0815.26

Expiration Date 10/31/2028
y

By IS

Miami-Dade Product Control

DATE: O7/16/2023
SCALE: NA
DESIGN BY: PPMF

SHEET
Il OF 13

DRAWING #:
23-104



utrera
New Stamp


]

LOUVER MANUFACTURE COMPONENTS

MANUFACTURER:

NOTE: MATERIAL FOR ALL COMPONENTS 1S MIN TYPE 6063-T5

HARRAY, LLC, dba
EXTRUDED ALUMINUM.ALL DIMENSIONS ARE INCHES.

RCHITECTURAL

6.06

266 W. MITCHELL AVE.
| 5.00 CINCINNATI, OHIO 45232
| |

"D'U-V-E'R-S
| 1 PH: (888) 568-8371
| FX: (888) 568-8370

|
’ 6.00 ‘
l] ' L} M3- 3X5X1/4 6063-T5

ALUMINUM ANGLE
F4-  ALTERNATE FRAME
AFPLICABLE ONLY TO ANGLED OR ARCHED UNITS
FI- FRAME HEADER OR FRAME SILL NOT TO BE USED AS MULLION

EGJF / EGWF / VEJF
6.00

i i :[j““:ﬂ | LARGE MISSILE IMFPACT LEVEL
Ly~ : e N |

0.75
0.080

0.08

0.75

PRODUCT:

4.50
3.00

6.00

0.08
0.66

Q
~ I
O
X Q X 0.25
Q | | © M7- JAMB TRIM ENGINEERING:
. PPMF INC
s CA32459
F2- FRAME JAMB / MULL F3- ALTERNATE FRAME HEADER OR SILL 200 5.5Z MULLION ASSEMBLY

9715 W. BROWARD BLVD. 247

1O

‘ PLANTATION, FL. 33324
- PPMF@AOL.COM
' T e |25 —L 3.00 __é g
T [Te}
g %%gé@@%ﬁﬁmm%ﬁw%?
o ""‘“=JT OE Fjn %,
M4- 2X2X1 /4 6063-T5 S - W [ GG,
ALUMINUM ANGLE o N CEN gLy
1.25 $ &N & ‘%% %
.12 (@] ' ™ §% K ' ] 1
= 2 § No. 52609 1° %
0 N 3.02 7 ~| = 5.52 MULLION SUPPOR]] g * RS
! ! MADE FROM (2) "M3"* H fa
N N 0.25 e e 3 STATEOF §{&§
o 9y 3'X 5" X /4" ANGLES s Py Flus
S S wo§ ||| BoTeD ALONG THE LENGTH TR
El { °© X 0.08 - Kot s R%%\ &
| M S ONAL Eef’ |
] 5- 1 1/4X3X1/4 6063-T5 . %, goet® 1|07
, ALUMINUM ANGLE - Xy esessnsanst®®’ 4 1D
o Quyr ¥ Engineer Seal
— L3- DRAINAGE GUTTER NQES Pedro De Figuerredo - PE 52609
38 OPTIONAL Ko
L2- BLADE SUPPORT . MIAMI-DADE BCCO:
LI- LOUVER BLADE |/ gg&'sawf;“’v‘
MATCHING NUTS | PRODUCT REVISED
AND LOCK WASHERS as complying with the Florida
0.66 o 3.00 —— A Building Code
o Loe T — 3.00 —] v NOA-No. 23-0815.26
]
ro r oo = o o Expiration Date 10/31/2028
N
0.25 8 By K
-1 8 N Miami-Dade Product Control
Q O 2 ® SIDE VIEW I
0.13 o} O o “ o 119%° 5.50
o N 0.13 ST 0 1 -
.L G:l § © § © 500 —] Q —{}.25 3.00 125 {—
- TI ] [ ? ; | ° ' DATE: 07/16/2023
SCALE: NA
l 231 ! 231 | ] 8 DESIGN BY: PPMF
M- RH HIDDEN MULLION M2- LH HIDDEN MULLION @ TOP VIEW @
AND BLADE STIFFENER AND BLADE STIFFENER 2
M6- 5.57 M8- 5.52 M9- 5A X SHEET ,
ALTERNATE | MULLION ALTERNATE 2 MULLION ALTERNATE MULLION | DRAWING #:
6063-T5 MULL 6063-T5 MULL 6063-T5 MULL

12 0F I3 23-104



utrera
New Stamp


MANUFACTURER:
BILL OF MATERIAL HARRAY. LLC. dba
PART | DESCRIPTION MATERIAL RCHITECTURAL
:: é '; g[\'\jg TEQ[;/E‘;N/ S'ALALULL 2822’% th:zgm OPTIONAL NON STRUCTURAL ACCESSORIES "8-U-V-E-R'S
F3 ALTERNATE FRAME HEADER / SILL 6063-T5 ALUMINUM 266 W. MITCHELL AVE
F4 ALTERNATE FRAME JAMB 6063-T5 ALUMINUM WDR BLADE RACK ASSEMBLY CINCINNATI. OHIO 45232
F5 EZ' CLIP 4 1/8X] 3/8 6063-T5 ALUMINUM PH: (888) 565-8371
FX: (888) 568-8370
L LOUVER BLADE 6063-T5 ALUMINUM
L2 BLADE SUPPORT 6063-T5 ALUMINUM TYPICAL
L3 OPTIONAL DRAINAGE GUTTER 6063-T5 ALUMINUM #eX3/4" SDS
18" OC PRODUCT:
M RH HIDDEN MULLION OR BLADE STIFFENER | 6063-T5 ALUMINUM _
M2 | LH HIDDEN MULLION OR BLADE STIFFENER | GO63-T5 ALUMINUM [ TvPicaL EcJF / EGWF / VEJF
M3 3X5X 1 /4 ALUMINUM ANGLE 6063-T5 ALUMINUM #GX3/4" SDS ALUM;NUM LOUVERS
M4 2X2X | /4 ALUMINUM ANGLE 6063-T5 ALUMINUM g}i S/V*DCQ BELNADDE LARGE MISSILE IMPACT LEVEL
M5 | 1/2X3X 1 /4 ALUMINUM ANGLE 6063-T5 ALUMINUM
M6 ALTERNATE 5.5Z MULLION 6063-TS ALUMINUM
M7 OPTIONAL JAMB TRIM 6063-TS ALUMINUM
S| 5/16" 1" HEX HEAD BOLT CARBON STEEL ZINC PLATED . ENGINEERING:
52 5/1 6" MATCHING NUTS CARBON STEEL ZINC PLATED 2 PPMF INC
53 #14X1 1/2" SELF DRILLING SCREWS CARBON STEEL ZINC PLATED g o715 W, BROWARD 'B L\fg 3;‘;5;
54 #10X " SELF DRILLING SCREWS CARBON STEEL ZINC PLATED f;’ LANTATON. FL- 33324
o PPMF@AOL.COM
¥ g
E E . a0908505085,, "
é %%@%@@@ ‘ DE E @Zﬁ’@@%
& A0 ettt ey, %%
S O\/;’/TDIS L&{Eg&gﬁ —] L—_————_— WDR INTERIOR OFTIONAL BLADE f%ésgiﬁw\} GCEW ‘?é:%f% %%
_______ P S N & & % %
el L L Ll L £ L £ L £ & #6X3/4" SDS G b o p e fo- g
: —= : (, rase AL i?&1 EOF fs§
| | \\_ TYPICAL ”%@;%Wigg R@L&E&%ﬁ& 3
| | TYPICAL #GX3/4" SDS e U A
| | H#GX3/4" SDS C T AT EACH END oot ONAL @@@@i /
i . Peg, &85 [84)
1" oC OF WDR BLADE D AN W
L — = — I LOUVER . v Engineer Seal |
_\ BLADE ™" pLapE T Pedro De Figueredo - PE 5%609
EXTERIOR EXTERIOR
MIAMI-DADE BCCO:
WDR BLADE PRODUCT REVISED
as complying with the Florida
Building Code
NOA-No. 23-0815.26
Expiration Date 10/31/2028
N
—p—— By £
Miami-Dade Product Control
s |Z
L) 5 | > |
' } 2 { l |
E— ol i A
;_. 3 _ - ' DATE: 07/16/2023
—t SCALE: NA
O - WDR BLADE O2- WDR FRAME 03- WDR FRAME ADAPTOR O4- WDR FRAME JAMB DESIGN BY: PPMF
6063-T5 ALUMINUM 6063-T5 ALUMINUM 6063-T5 ALUMINUM 6063-T5 ALUMINUM
SHEET DRAWING #:
I30F 13 23-104



utrera
New Stamp


